
COMBO CHEST

AI - 600-00

Assembly Instructions
Model shown is example only. Styles may vary

Scan the QR code to register your product
https://dreamonme.com/customercare/registration/



AI-600-00

Dream On Me Inc.,1532 S Washington Ave, Piscataway Township, NJ 08854

Adult assembly required.
Small parts may present choking hazard prior to assembly.

that you follow the steps below:
1. Please read the instructions thoroughly
2. Identify all parts and hardware
3. You may need to provide the following tools:

Philips Head screw driver
Flat head screw driver
Hammer

 
Do Not Use Power Drills Or Drivers

To protect your parts during assembly please please place them on a soft surface. To clean surface, use only water on a damp cloth. 
Do not use window cleaner or cleaning abrasive as it will scratch the surface and could damage the protective coating.





.  AI-600-00

PARTS AND TOOL DIAGRAM

3

A S S E M B LY  I N S T R U C T I O N S

(11) BACK PANEL

(3) RIGHT SIDE

(1) TOP PANEL

(2) LEFT SIDE (4) TOP BACK RAIL

(6) BOTTOM BACK RAIL (5) BOTTOM BACK RAIL 

(9) RIGHT BOTTOM PANEL(8) SHELF(7) DOOR 

(10) MIDDLE PANEL



.  AI-600-00

PARTS AND TOOL DIAGRAM

4

A S S E M B LY  I N S T R U C T I O N S

DRAWER PARTS

(16)  RIGHT PANEL x 3 (17) BOTTOM PANEL x 3
 

(14) BACK x 3(13) BOTTOM SUPPORT  x 3 

(15) LEFT PANEL x 3

(12)   FRONT  PANEL x 3



AI-600-00 5

A S S E M B LY  I N S T R U C T I O N S

 

HARDWARE AND TOOL DIAGRAM

(A) ALLEN WRENCH (C) 1-1/4” SCREW x 7(B) KNOB x 7

(F) 1” SCREW x 24

(H) FLAT WASHERS x 10(G) BARREL NUT x 2

(D) 2-3/4" BOLT x 10 (E) 5/8” BACK SCREWS  x 28

( N ) SHELF  SCREW x 4

( M ) SHELF PIN x 4

( O ) DOOR PIN ( P ) DOOR PINE SCREW x 2

(Q) 5/8" BOLT x 2 ( R )  5/8” SCREW x 12 ( S ) DOOR HINGE x 2

(T) "L" BRACKET (NOT PROVIDED)(U) PUSH PIN x 6



AI-600-00 6

A S S E M B LY  I N S T R U C T I O N S

STEP 1

STEP 2

(D) + (H)

(D) + (H)
(G)

(T)

(Q)

(U) (U)



AI-600-00 7

A S S E M B LY  I N S T R U C T I O N S

STEP 4

STEP 3

(U)

(U)



AI-600-00 8

A S S E M B LY  I N S T R U C T I O N S

STEP  6

STEP 5

(M)

(N)

(R)

(R)
(S)



AI-600-00 9

A S S E M B LY  I N S T R U C T I O N S

STEP 8
DRAWER BOX

STEP 7

14

 15

 16

(F)

(F)

(E) x 28



AI-600-00 10

 17
 13

A S S E M B LY  I N S T R U C T I O N S

STEP 9
DRAWER BOX

STEP 10
DRAWER BOX

12

 

(F)

(F)



STEP  9

AI-600-00 12

A S S E M B LY  I N S T R U C T I O N S

(C)

(B)



STEP  10

AI-600-00

A S S E M B LY  I N S T R U C T I O N S

STEP 

AI-600-00 13

A S S E M B LY  I N S T R U C T I O N S

(O)

(P)



Enter our monthly giveaway!
Simply scan the QRcode to register.

Chat with us!
For any questions or concerns or feedback.

1532, S. Washington Avenue
Piscataway, NJ 08854

E-mail: info@dreamonme.com

www.dreamonme.com

Follow us on

to get your nursery featured on our social media.
@dreamonmeinc @dreamonmeinc




